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¥4 The perimeters of two similar triangles AABC and

A PQR are 36 cm and 24 cm respectively. If PQ =10 cm,
then AB is:

A THHE AIYS ABC 3 PQR T aify pasr: 3 ok
1T g 141¢ PQ = 10 |L, 1 AB 3

(a)d5cm_]

(b) 12 cm
(c) 14 cm
(d) 26 cm
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4 Two medians AD and BE of A ABC intersect at G at
right angles. If AD =9 cm and BE = 6 cm, then the
length of BD, in cm, is:

fAyst A ABC @1¢l AT AD 3R BE TH G G
R BIedl Gﬁgoa’r-‘zrmaﬁwaq?ﬁg,tr% AD = 9 JH} 3R
BE = 6 9HI §,dl BD &1 ddrs, GHI H 8: L

(b) 6
(c) 5
(d) 3
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X Two chords AB and CD of a circle intersect at E such that AE =
24cm,BE=3.2cmand CE=1.6 cm. The Iength of DE is?

ol AB 3R CD PINTEWR 2 SUUPR AE
=2:‘?§TQE=3.2,CE= 1.6@%?%@%%@ DE &1 ?

(a) 1.6 cm

(c) 4.8 cm
(d) 6.4 cm
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%4 Three angles of a quadrilateral are 60°, 120° and 90°,

then find the fourth angle in radian ?

:%-'Iﬁ%?ﬂqaﬁw 60°, 120° 3MiX 20° §, e fSaa A =
ATd Pifore?

(@) /4 |
(b) 3m/4
(c)ml3 |

[C)E
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(= )
&% |f gfe¢ x2 - 3x + 1 = 0, then the value of HTH ATd P

1
x3+—3 =?
X
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() 10v3/3
(b) 0

[(c) 3\b
(d) 6v3

https://t.me/MathbySuryaveersir



, "ff____:‘wa SSC CPO/CHSL/CGL TIER 11 2023 1000 QUESTION SERIES
(S 2 .
5 = 10 then the value of x-HI JId

% 1f/9fe x +
3+ =

5+¢
Y X PI

(a) 1376/135 '
(b) 53/6

(c) 4.35
(d)9
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Iffafe  x* + x—14 = 23 then what is the value of T

il'l?lﬂﬁ' (x — 1)2= ?

X

_— ]
Fy
e ‘

d%ﬁi

(c) 7
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¥ If/qf¢ sec?e+tan2e = 7/12, then find the '
'~ value of /A JTA B

sec%o — tan40 +512

(a) 7/12

(b)12_]
(c) 512
(d) 1
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If/afe seco + tane = p, then the va
of AT ATA PN

sSino IS :
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__1'.'3 rom the top of a pillar of height 20 m, the angles of elevation and
depression of the top and bottom of another pillar are 30° and 45°
'3. 2 respectively. The height of the second pillar (in meters) is:

forer & 2fid & ol 3o 207 @ & M quT MUR R T
%W@?Wﬂﬁﬁw w?m@r?a’rw%ﬁmaﬂmmaﬁ?

NG
(a) 20(\/§+1)
(c) 10

(b) 10+/3

(d) = (V3 +1)
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T he length and breadth of a rectangular field are 120 m
| ~ and 80 m respectively. Inside the field, a park of 12m
_' 3 width is made around the field. The area of the park is:

ISR & P Ga1g AR NSTS HHA: 0HIE AR @
& 3 & E R]
il

. } SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES :

(a) 3224
m2
(b) 7344

[m? |

(c) 2256
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A iron rod is in the form of a square enclosing an area
of 22 cm?. If the same iron rod is bent into a circle, then
find the area of that circle?

dle P B8 20N T JAB RATA TS FUH
g’t%luﬁmﬁ Tile P DS B P gu | His fearirar g, af
S G BT &ATH A JTd P2

(a) 24 cm?

ibt 26 cm?
2

(d) 30 cm?
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4 The volume of two spheres are in the ratio 8:
-' 27. The ratio of their surface areas is:

O AT BT AT & Z7F U N ¢ | ST W
aﬁﬂéﬁqﬁ%
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The volume of cylinder is 13860 cubic cm .if circumference of its
base is 132 cm ,find the curved surface area of the cylinder ?

90 BT AGd 13809 A°Hi g, afe STYR P 12 Ied g, @
da P afshd YRR I 2 i

(a) 640

(b) 360

l(c) 1300
(d) 680
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1 A father's age is three times the sum of the ages of his two
children, but 20 years hence his age will be equal to the
8 sum of the ages of his children. The father's age is:

TP fUar 31 SU U el Tl P SU B A AT S, 20T
91 9P| Y ISP T DI Y P WRIGR g1 e, fuar®t

3T AP ?

()
(2) 40 years
(3) 35 years
(4) 45 years
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1 A bucket contains a mixture of two liquids A and B in the proportion
7:5. If 9 litres of the mixture is replaced by 9 litres of liquid B, then
the ratio of the two liquids becomes 7 : 9. How much of the liquid A
was there in the bucket?
TP aIeal H 7: 5% SUTT A gl ava A 3k B H1fgur 81 afe ocfiex frgor
Pl 9dle IRa B W 9 faur Sirar 8, af S aver ueTdl &1 Ut 7: 981
SITaT ¢ | aTeel H fpaaTara A faarar

(1)
(2) 23 litres
(3) 25 litres

(4) 27 litres
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A train passed two persons who are walking in the opposite
direction in which the train is moving, at the rate of 5 m/s and 10 m/s

in 6 second and 5 seconds respectively. Find the length of the train.
T 3 g et Y U Faa oft Rt R & e & aur g
HHI:5m / s AR 10m / s 3R T 6AHS R 58S H IRFN A1 3|
o B GaTg JId BIfoe |

(1) 125 m
[(2) 150 m
(3) 160 m
(4) 170 m
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N g S

2 Two trains of length 100 m and 80 m respectively run on parallel lines of
rails. When running in the same direction the faster train passed the _.

1 slower one in 18 second, but when they are running in opposite directions §
with the same speed as earlier, they pass each other in 9 seconds. Find "
the speed of each train.

' firew 3k sofirer & S B YHIR R q
ARAIH G S Bk R GBI RALILEL 4 U

RIS E IR CEUCE 38

(1) Em/s,_ 15 m/s]

(2) 10 m/s, 25 m/s
(3) 15 m/s, 20 m/s
(4) CND
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Suresh can do a work in 15 days. Suresh and Ramesh together do
the same work in 10 days. If they are paid Rs. 1500 for the work, how
should the money be divided between them?

ki 3R TN fea H
gg?%hl %ﬁﬁgwm%a mﬁggﬁg
qieT ST 91fee?

(1)|Rs. 1000, Rs. 500

(2) Rs. 700, Rs. 80C
(3) Rs. 1200, Rs. 300
(4) Rs. 1300, Rs. 200
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A builder decided to build a farmhouse in 40 days. He employed 100
men in the beginning and 100 more after 35 days and completed the
2 construction in stipulated time. If he had not employed the additional
men, how mari%(_-ﬁ s behind schedule would it have been finished?

fawee wﬂg::ﬁq thaar foar | S eana |
g@hﬁaﬁi%aa%mahvas 1ooaﬁ'\rarf€|$almqaﬁ§;nfﬁ
wHg | gy b afe gi%ﬁﬁtﬁﬁmqé’rmam GG
Wﬁﬂﬁﬁﬁ%mmeﬁmv

WEXCVE
VALK EVE
(3) 8 days
(4)
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| 2 Cube and a sphere have equal surface area .the
3 ratio of their volume are

U 3MR A BT &P JHH 8 9l 39 Sd— BT
3FUTT A P ?

(1)3:4
(2)4:3
(3)5:2
(4) Not

hitps://t.me/MathbySuryaveersir |




